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General Instructions :

(i) There is 34 question in this question-paper. All questions are compulsory.
(ii)  Question paper contains two Sections :

Section-A : Statistics for Economics

Section-B : Indian Economic Development
(it} This paper contains 20 objective type questions of 1 mark each.

(iv) This paper contains 4 short answer type questions of 3 marks each to be

answered in 60 to 80 words,

(v) This paper contains & short answer type questions of 4 marks each to be
answered in 80 to 100 words,

(vi) This paper contains 4 long answer type questions of 6 marks each to be
answered in 100 to 150 words.

(vii) Answer to all parts of each question should be written together.

que - 5
SECTION - A
1. Fpa onfe fran 787 = Sirem ® ? 1
(A) &t (B) FW
(C) =Ea™ (D) Her e & oroel =TT @ Ferr S
Which is not considered as an economic activity ?
(A) Banking (B) Agriculture
(C) Business : jj'_:(_D) Komal helps her mother in kitchen.
2. A F SR TR O R ad ae @ o ¥ 2 1
(A) 20 (B) 10
(C) 15 (& 5
212
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: - 2 ' . ’ WS ")
Census in India is generally done after how many years
(A) 20 (B) 10

3. @l omgfy @t few A / off S S @ 7

3212

(A) TR (B) SfeTEd

(C) WR-TME (D) 3T IRE
Cumulative frequency curve is also known as :

(A) Histogram (B) Ogive

(C) Pie-chart (D) Bar Diagram

. R Rl e & TR% e @ AW 3 A Fel [RAr S, of | e

(A) I8 @ B
(B) 3§ T Fam B
() 3d TG o

(D) ST X § % TH

3212

If the value of each observation of a series is increased by 3. Then their mean

will be :

(A) Remains the same
(B) Decreased by 3

(C) Increased by 3

(D) None of the above



(5)
o fi Aol ST wEHEH % Aoft W (Ranks) B ofa¥ F AT A ¢ -

(A) +1
B) -1

(C) O

(D) +1q-1% 9=

The sum of the difference of Ranks in Spearman Ran
(A) +1

(B) -1

(C) O

(D) Between +1 and -1

G.ﬁ?aagufsjﬁxmrqﬁ—veeﬂTYaquWeam%?
(A) e
(B) f&ima
(C) M
(Dy =g

In which quadrant value of X is —ve and value of Y is +ve ?
(A) First

(B) Second

(C) Third

(D) Fourth

3212

k Correlation is :

3212

(U-eTR /derR) 1

................. ; (U-shaped/Bell-shaped)
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8. : Wfﬂwm ﬂ@zﬂm ............... | (;{éﬁm%/ﬁ%me)‘ib
(not effected /highly effected'l-

Arithmatic mean is ........coceees by extreme value.

9. Mmm%@mamﬁmmmﬁam%l

The value of the variable which occurs most frequently in a distribution

called. k.
Praffaa 2 98 - S (A) IR @ (R)! 47 Ru g frepedt § @ @6 Wﬁﬂﬂ*‘riﬁ':‘

Read the following statement - Assertion (A) and Reason (R). Choose one of the

correct alternatives given below :

10.aﬁwlm:qmwﬁﬁmaﬁaﬁ?ﬂ@meﬂ?ﬁwm%aﬂﬂaﬁrw%; 1
ﬁﬂ*(RNféﬁFﬁﬂj@mﬁwmﬁmﬁrmm%@wqﬂaﬁeﬂgﬁrmm%s
(A) SR (A) @ T (R) SR @ ¥ q @ (R) AR (A) HFE WEHT B t
(BY W(A}Hmfﬁ[R)ﬁm%wﬂm)m(mﬁﬂﬁm@waﬁ%
(C) SRR (A) T B, W T (R) 0 &I
(D) SARIHY (A) STE 2, ] d@ (R) T -

Assertion (A) : Mid value is the difference between upper and lower limits of a

class.

Reason (R) : Number of times an items occurs in a series is called frequency of

that item.
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).
(B)

Both Assertion (A} and Reason (R) are true and Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.
3212
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3
11 St a2 (e sest & fra e e 8 7

' - ke D
How primary data are differ from secondary data *

. 3
12. geddy & o ud Rded Wee S

Write down the meaning and features of correlation.

aTerr
OR
TR 11l & RIsigand gasu)

Explain the properties of Arithmatic Mean.

13. @i # geg @ e | 4

Write down the main limitations of statistics.

14. §RCM & g4 qehl H o P

Explain the main components of table.

S7erar
.on
TR Y@ e e TR fif

[Nlustrate Inclusive Series with example.
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5. ﬁqaﬁwﬁﬁﬁmaﬁrm‘f@%ﬁﬁﬂﬁm=

Calculate Fisher's ldeal Inw

16.

3212

(8)

from following data :

i\ ST ad g ad
(Goods) (Base Year) (Current Year)
]
fa | 9@ | B | T
(Price) | (Value) | (Price) (Value)
A 3 18 7 14
B 5 35 10 100
C 6 42 11 44
D 8 24 45
31gar
OR

uftest Tdeor & e W UE eial wied Sl

SIRE!

OR

ST fafy S @rem T W@ A wied Fit

Wwﬁwﬁﬁq—ﬁwwﬁﬁwwmmﬁq?

What are the main precautions while constructing index ?

Explain sampling survey with advantages and disadvantages.

Explain Census Method with its merits and demerits.

3212
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17. B ofidel @ Wed, AR G4 9gadh S B

Calculate Mean, Median and Mode from following data :

3% (& ) 10 | 20 | 30 | 40 | 50
Marks (less than) |

il @ we 4 [12]|24]|32]36
(No. of Students)

e

OR
T @ FI F IR A 9 o A X @edeay (Rank Correlation) TP ST
HIfT
Calculate Rank Correlation coefficient from marks obtained in Maths and

Economics :

T § 3w 151020281210/ 16| 18
(Marks in Maths)

sefeme # 3 16 |14 [ 10| 12|11 ] 15| 18 | 12

(Marks in Economics)

e -9

SECTION - B

18. %ﬂﬂéﬂ‘mﬁwmwmw%?
(A) 1920 |
(B) 1921
(C) 1948
(D) 1991
3212
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. nft ivide' ?
Which vear is known as ‘The Year of the Great Divide

(A) 1920
(B) 1921
(C) 1948
(D) 1991
19. FF-8 Feadt Ao SErfmer | S 6 7 1
(A) e (B) fecha
(©) i (D) =gd
Which five year plan was focused on Industrialization ?
(A) First (B) Second
(C}) Third (D) Fourth

20. 9T # eRa Hio # T 7 Fe A 2 7
(A) THo THo WM
(B) do AT W e
(C) 2fo WA fHe
(D) Efo IGI= THRE
Which is known as father of Green Revolution in India ?
(A) M. S. Swaminathan
(B) Pt. Jawahar Lal Nehru
(C) Dr. Manmohan Singh

(D) Dr. Rajender Parsad

3212




21.

22.

23.

(1) 3212

alet AT & AR R8T 9 e e o o 7 1
(A) A (B) #@m=

() e U9 3 (D) BT

Which industry suffered a major setback during British Rule ?

(A) Sugar (B) Cement

(C) Irén and Steel (D) Handicraft

M= & @ 9-T & wres gos 7@ S 7

(A) 19 59 =X

(B) Site S

(C) e Y& & 91 @t B ufera

(D) #g-57g =

Which of the following is not a health indicator ?
(A) Infant Mortality Rate

(B) Life expectancy

(C) Percentage of people below poverty line

(D) Maternal Mortality Rate

agaﬁurﬁﬁwqﬁmtgﬁﬁﬁé?ﬁa%@@mﬂamﬂﬁﬁﬁ%mﬁm%awﬂﬁﬁﬁﬁ
R oft & v oy & 2 1

(&) TYEFE e

(B) A g+
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A lot of rural houschold take up cultivation of flowers as an entreprenc urial

activity. In which category is this activity placed ?

(A) Apiculture (B) Pisciculture
(C) Agriculture (D) Horticulture
24, oo a1 el & ST # T U 8 (Sifers /i) 1

................ use of fertilizer, destroys the fertility of the soil. (Organic/Chemical)

25, WA & coooveeinnn A A F T 8 2 (qreitren & /Fef &) 1

.................. is the major sector of formal employment in India.

(Public Sector/Private Sector)

26. R % T WhR o adne O @ oTawdasl @ QU ad 8, 9y W 9e 6
ST T B A A A A @y T g, F= e ¢ 7 1

The process of development that meets the need of the present generation

without harming the ability of future generation to meet their needs is called ?

Rrfeiad FoM 0% — St (A) X @@ (R) 1 Ru w feedt & @ 787 Ry @ a9+

Read the following statement — Assertion (A) and Reason (R). Choose one of the correct
alternatives given below :

27. R (A) : AMRIA S J 3N H Y F IARA B AT B
g% (R) : STRF TS TR R W osnyiia g
(A) ST (A) T @ (R) AF1 6 § qor 9% (R) A (A) B 9 i

(B) SRR (A) T T (R) I § ¥ a1 0 (R) SR (A) 1 98 wdieor 6t B
(C) SREHE (A) T 8, WY 0% (R) orae B
(D) OEHUA (A) 3T 8, T & (R) & B
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29,

30.
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Assertion (A) : Operation flood has increased milk production in the country.

Reason (R) : Operation flood is based on co-operative marketing.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R} are true and Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) 1s true.

. < 3
groig faeme # oref ug fagigant saRy
Explain meaning and features of sustainable development.

qr

OR

@R FHE H PO B GRS AR Hv

Briefly explain causes of environmental crisis.

T A O SR Al R SR @ R @ e it

Explain the different type of unemployment found in rural area.
A B S T e o @ waan i
Write down the outline of the startegy of development adopted by China.

P 1.0,
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32.

33.
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T S A AR e & Mee 3 JgE HT B A Hi | 4

Discuss the main causes of the backwardness of Indian economy at the time of

independence.

STHar

OR

qRa § ffesr avew 3 g guEl F @ Fi

Explain the positive impact of British Rule in India.

“TRA F BT s ewyet of oty wata i srer @ik 4
"Green Revolution in India was significant but not sufficient." Explain.

YT

OR
“ﬁﬁ%ﬁaﬂ@mﬁﬁgﬁgﬁ%ﬂ%maﬁgﬁeﬁ%m
"Agriculture is the backbone of Indian Economy." Substantiate this statement.
RE F S Rl ) erel #1 ot 6

Describe the failures of economje planning in India.
SEE]
OR

W%Wﬂq“"ﬁwmﬁ?sﬂ%g@mwm%:

What is meant by

liberalization of €conomy ? Explain its main measures
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3. 7 T Pl 31 o1 @ @ qer & o Rt Sl @ v R 6
Explain the meaning and measures to raise the rate of Human Capital
Formation.

Ygar
OR
THT b s Rt el i

Discuss the main challenges of rural development.
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